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Trigonometri.
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sin(z + y) = sin(z) cos(y) + cos(z) sin(y)

sin(z) sin(y) =

sin(z) cos(y) =

l\)\»—l l\')\?—‘

(cos(x — y) — cos(z +))

(sin(x — y) + sin(z + y))

In|z|+C
sinz 4+ C

—cotx + C

a
1
na , 0<a#

In|f(z)|+C

|z < 1,

—-1l<x<1

o] <1

1
cos(zx) cos(y) = 3 S (cos(z — y) + cos(x + y)) tan(z +y) = tan(z) + tan(y)
1 — tan(z) tan(y)
Integralkatalog
" xa+1 1
/az dx = a+1+C’ , a#—1 /;dw
/sinxdac = —cosz+C /cosxdm
1
/ 5 dx = tanz+C /
cos? x sin? x
/ezdaz = e"+C /amd:p
1 1 @ f'(@)
/mdaz = Earctana—&—C’,a;éO @)
/#dx = arcsini—i—C a>0
va — x? B Vva ’
1
/7d1: = ln|x+\/m|+C,a7$0
Va2 +a
/ a—x2dr = 1:c a—22+ Laresin-= +C , a>0
P P A
/ 2 +adr = §(x 22+a+aln|z++z2+al)+C
Maclaurinutvecklingar
oo k 2 3
T T T
T — - — 1 P -
e kg i o oy gyt
o0 2k—1 3 5 7
i = )kt E — Ly _r
sme ;( A Yy Togrte Tt
oo 2k 2 4 6
\ - kL - r, r T
cos® = kzzo(_l) 2h)! = et et
1+2z)* = i R P = 1+ax+a(a_1):r2+“
= k 2! ’
a) ala-1)...(a—k+1
k) k(k—1)...1
) 2 3 4
Wit = S _, et et
nira) = 0T LA
oo 2k—1 3 5 7
_ k1T _ T x T
arctan x = ;(_1) % —1 = ./,U—?-‘FE—?-‘F .
Ovrigt
, Y, 2) dedyd
Masscentrum (zr, yr, 2r) for  ges av xr = “Ufﬂ zp(x,y, 2) dady Z, analogt for yr, z7.
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p(z,y, z) ar densiteten.



